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B #E 1T H 262 271 296 567 | » WEET5 T H 539 557 535 1,092|%¥r BT 7 T H 1,286 1, 556 1,418 2,974\ ABT3T H 220 251 219 470
W w2 T H 364 344 368 T12| T WAAT6 T H 386 374 413 787 BT 8 T H 604 709 651 1, 360|/)x 4,711 5,020( 5,084| 10,104
W B3 T H 291 331 312 643 2t 9,660 9,995 9,842 19,837[#H BT 9 T H 1, 331 1,374  1,129| 2,503| =fEE1T H 92 98 92 190
Py Il T H 147 144 137 281 [k i 593 637 645 1,282| R /5 ET1 T H 115 100 107 207| —(RE2T H 332 368 363 731
Py a2 T H 107 94 87 181|% LW 1T H 349 404 375 179K IS BT 2 T H 525 547 523 1,070 {2 E3T H 290 309 325 634
LR 135 151 174 3258 L mr2 T H 660 675 687 1, 362 z 9,638 10,694| 9,759 20,453| fREE4T H 127 116 125 241
£ L HT 277 250 264 514(% 073 T H 1,588 1,463 1,421 2,884({f il T 1T H 815 824 846 1,670 —f=E5T H 90 106 97 203
i HT 438 414 420 834|# L MT4 T H 805 788 769 1,557\ 30 072 T H 311 343 311 654[3R H 1 T H 86 68 73 141
{ HT 208 196 197 393k P 1 T H 839 934 868 1,802|{ 0 BT 3 T H 238 253 254 507(3R # 2 T H 111 118 112 230
= HT 125 105 116 221k 4 2 T H 331 382 401 7833 WY 4T H 771 693 682 1,375|3R 43 T H 125 117 105 222
Z F o HET 174 197 193 390[k P 3 T H 745 856 890 1, 746 | 30 BT 5 T H 756 721 718 1,439 & A& BT 157 140 163 303
B g5 HET 417 397 432 829 |4 ey 466 433 525 9583 L T 6 T H 1, 250 1, 241 1,252 2,493\ F 1T H 50 40 39 79
K 4 WE HET 505 520 517 1,037|%& 2 482 529 543 1,072\ 30 BT 7T H 1, 150 1,035 1,105 2,140/ F 2 T H 66 62 57 119
W, bk omr 312 282 287 569K B T 1 T H 276 314 315 629 (3 3 BT 8 T H 823 845 729 1,574|4 & 1L 40 57 67 124
KM HT 505 504 499 1,003| K % F2 T H 273 342 333 6753 L M9 T H 958 809 904 1, 713[/ 5 1,566 1, 599 1,618| 3,217
HEfiE1T A 204 194 202 3964 1 T H 621 830 801 1,631|{ ;0 BT10 T H 964 798 762 1,560|= M 17T H 303 225 246 471
AEfmE2T B 250 250 262 512(4 FF 2 T H 161 218 220 438 2t 8,036 7,562| 7,563 15,125|m M2 T H 85 89 79 168
HEFfiE3T A 315 365 358 723|145 3 3 T H 389 518 445 93|k G 1 T H 186 188 200 388|E M 3T H 187 149 134 283
= 5,036 5,009 5,121 10,130|% ¢ 4 T H 626 759 715 LA4T4|fE /& 2 T H 1, 066 1, 266 1,204 2,470/ A1TH 100 98 103 201
B AETLT H 235 260 258 518|4 S 5 T H 543 653 675 1,328|f # 3 T H 382 401 417 818[/NEr A2 H 45 47 52 99
B KHT2 T H 363 373 359 732 = 9,747 10,735 10,628 21,363|%4 H 1 T H 1, 400 1, 449 1,473 2,922|/h@ A3 T H 172 181 191 372
B K WY 3T H 211 241 261 5028 H M1 T B 492 422 489 911|4 # 2 T H 1,071 1,074 1,127 2,201|/h@ K4 T H 212 151 207 358
Ed#1T H 721 673 680 1,363\ H M2 T H 825 760 780 1,540|%4 # 3 T H 872 939 908 1,847|/N A5 T H 74 74 83 157
EWM2T H 745 814 814 1,628 FH ME3 T H 1,124| 1,076 1,096 2,172|1%4 #H 4 T H 0 0 0 O|B R 1T H 254 170 215 385
EWM3TH 401 481 460 41| FH M4 T B 782 657 651 1,308/ # 5 T H 165 51 138 189[H R 2 T H 245 261 244 505
EWM4aT H 802 787 867 1,654|8 H M5 T H 1,039 933 1, 000 1,933 = 5,142 5,368 5,467| 10,835\ R 3 T H 225 161 201 362
EWM5T H 530 502 532 1,034\ H M6 T H 397 431 385 816/ = 55,255| 56,883| 56,087 112,970|/) 1,902 1, 606 1,755| 3,361
EWMe T H 214 210 234 44448 » A1 T B 390 386 401 787|140 1 T H 346 394 349 743|5% A1 T H 204 158 209 367
EWM7T H 494 489 423 9124 » fA2 T B 766 611 742 1,353\40 1 2 T H 401 422 435 857|pk A2 T H 212 210 160 370
EWMsTH 280 297 286 583 |6l A BT 1 T H 343 396 376 77210 3 T H 461 500 489 989|sk A3 T H 100 110 105 215
EWMoOTH 4 4 4 8|kl A BT 2 T B 774 846 844  1,690(Fn HET 1 T H 211 229 221 450(p A4 T H 51 44 48 92
KHEETLT H 310 313 302 615 |6l @ BT 3 T H 607 599 543 1, 142|fn M ET2 T H 288 293 308 601|s A5 T H 77 68 69 137
KHEET2T H 332 304 293 597 |fifi @ BT 4 T B 457 403 400 803[#E 5 1 T H 180 221 217 438|pk A6 T H 37 41 38 79
KHEET3T H 334 374 355 729 2t 7,996 7,520 7,707 15,227[Hg 4% 2 T H 206 216 255 471 A7 T H 64 67 65 132
K HEET4T H 312 361 351 7123 BT 1 T H 1,219 1,363 1,322|  2,685|HF 4% 3 T H 186 201 202 403|pk A8 T H 90 99 77 176
K HEEST H 317 348 348 696(%7 BT 2 T H 870 963 851 1,814|#F 45 4 T H 233 258 247 505/ 5 835 797 771 1, 568
T WL T H 652 668 669 1,337|%r BT 3 T H 1, 558 1,617 1,472|  3,089|#F 45 5 T H 533 604 651 1, 255|H BE F & & 9,014 9,022 9,228 18,250
T W2 T H 562 580 575 1,155|%f BT 4 T H 734 772 773 1,545|4F 45 6 T H 567 639 574 1,213[& 2+ 64,269 65,905 65,315 131, 220
T W3 T H 423 504 414 918[%¥r M7 5 T H 1,296 1,570 1,398| 2,968|f AET 1T H 362 397 393 790
T W4T H 493 481 409 890[¥r M7 6 T H 100 123 115 238|fh A B2 T H 517 395 524 919




